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The chart below gives the mass and orbital
period of each of four satellites, 1, 2, 3, and
4, orbiting Earth in circular paths.
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The Moon’s orbit is not classified as
geosynchronous because

A the Moon’s position over Earth’s surface
-

An object falls freely from rest near the
surface of Earth. What is the speed of
the object after having fallen a distance

PREVIEW

Please Sign In or Sign Up to download
the printable version of this worksheet

.

1] u I W (¥}
emitted frequencies. The astronomer
concludes that the distance between the
star and Earth is

A| decicasing

3 ng

G

Al6u car tfravels clockvise in a
horizenta| a-0f radins10-meters at

5.0 meters pcr second.

The magnitude of the centripetal force
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5.0 meters per second. Top view
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What is the pariod of orbi Of a
communications satellite in
geosynchronous orbit about Earth?

A 1 year

B 24 hours
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